NO. OF

MARKS

TOTAL

QUESTIONS MARKING SCHEME MARKS
A
1 (a) B
K1 1
c
A
(b) .
@ ) 2

c

Note : Correctly shaded, award K1

4,

700




2
(4x><4x)—l><2x[E =101x
2 7 (2
16x* —101x-77=0

(6x+11)(x-7)=0

OR
2
- ~(=101) /(- 101)’ - 4(16)-77) or equivalent
2(16)
x:7aix=—£ i
| 6 ]

length =28 cm

Note:

1. Accept without “ = 0".

2. Accept three terms on the same side, in any order.

3. Correct answer without showing method of solving quadratic

equation enaact award 3 marks.
[}
4, Valuein , | may be ignored.
L
3—-n +n

n=3-3mor m= or n=3m-9 or m=

3
OR

3m+n=3 or equivalent

6m =12 or —2n==6 or equivalent

OR

m 1 -1 - l 1 .
= 1 3o or equivalent
EEROCHE (3)(5) A
1 1 * (v 1
7 B o or | M= [V award K1
g T\ \9) T \n matrix \ 9

(K1)

or equivalent

(K1)

(K2)

K1

K1

N1

N1

K1

K1




m=2 N1
n=e3 N1
Note
m 2
( J=( 3} as final answer, award N1.
n —
6 . 6

tan ZHAE = ——— or sin LHAE = ——— or

9% 8’ 6> +145

{02 2
cos LHAE = & K2

6% +145
26°29' or 26.49° N1
Note:
Seen ZHAE , award K1
r= % oF % or 0.6 P1

3
ixgx(z) x 75x% 50 K2
3 5
RM 3394 N1
Note:
3

ixgx 2) , award K1
3 7 5




(@ | 2(6)=3x+6 K1
(2, 6) N1
(b) 3 P1
m=—
2
= E)(5)+6ﬂ c=-2 OR =% g) -
2 2 x-5 \2
y= Ex —% or equivalent N1
(a | And P1
(b) | Implication 1: If /¥ is a perfect square number then the square root of K1
W is a whole number.
Implication 2: If the square root of /¥ is a whole number then Wis a K1
perfect square number.
(© (3><n2)—n,n=1, 2,3,... K2

Note:

(3xn2)—n, award K1




@ | GH)-CXp)=0 3
5
- N1
(b) | 40+2x=2(y+23) or 2x-2y=6 or 2x+y=>54 P1
2 -2)x) (6

2 1 L\y) \54 K1

| 1 26 K1
QM=) -2 2)\54

N1

Ingredient B for chocolate cake, y = 16

Note :

(s

(inverse)
. , award second K1.
matkrix

3. Correct matrix method with incorrect equations award POK1K1NO.
4. Do not accept any solution solved not using matrix method.




9
2) 1 X 2% 372— x70 or 2x140 orequivalent K1
2><lx2x2—2><70+2><140 K1
2 7
720 N1
b) | 56 seen P1
1 22 2 .
140x112 or Ex7x(56) _or equivalent K1
1 22 ) .
2x5><7x(56) +140x112 or equivalent K1
25536 N1
10 (a) Probability
Student 1 B C
Jamal Ed £ 1
5 5 5
Nazri E] L 0
5 5
All 6 values correct N2
Note:
4 or 5 values correct, award N1,
(b) i) ] x = K1
5
6
EY3 N1




ii) K1
2 2) (2 2 3) (2 1 3) (1 2
=xX= [+ =x0|+| =x=|[+]| =x0 |+]| =x= |+| =x =
5°5)\5 55)\5 55)\55
25 5 N1
11 (@ |8 P1
(b) 6 0-20 -
24-20
-5 N1
l(5 +20)12)+ (20x 8)+ ! (4)20) &
(ii) 2 2 or equivalent
24
14.58 N1




12

() x ) 2
y 5 -3 K1 K1

(b) | Graph (Refer to graph)

The axes drawn in the right direction with uniform scale for—-3<x<4

and —4<y<12. P1

All 6 points and *2 points plotted correctly or the curve passes through

the 8 points in the range of —3<x<4 and -4 <y <12. K2

Note :

If 6 or 7 points are plotted correctly, award K1

Smooth and continuous curve that passes through all the points correctly

without any straight segment in the range —3<x<4 and -4 <y <12. N1
() (@) y=-18=x0.1 P1

(i) x=3.65+0.05 P1
) Straight liney = — % x + 3 correctly drawn K2

Note:

Identify equation y= — % x +3, award K1

x = —-1.80 £0.05 N1

N1

x =3.30+0.05

12
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(a)

@) (,-10)
Note:
(2, - 6) seen, award P1

P2

(i) (-6,-6)
Note:
(- 5,—2) seen, award P1

P2

(b)

(i) (a) Reflection in line x=1
Note:

Reflection only, award P1.
(b) Enlargement, scale factor —% , centre (— 1,- 1)
Note:

1. Enlargement, scale factor — % , or Enlargement, centre (— 1,- 1),

award P2.

2. Enlargement only, award P1.

P2

P3

(ii) 12=(——) x Ao

Ao =48
Note:

» 2
12= (—%) x Ao, award K1

N1

12
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(a)

Height Upper Frequenc Cumulative
(cm) Boundary q y Frequency
N Kekerapan
Tinggi (cm) | Sempadan Atas | Kekerapan Jonzzolan
I 136-140 140.5 0 0
I 141-145 145.5 l 7
I 146-150 150.5 8 15
v 151-155 155.5 10 25
\Y% 156-160 160.5 6 31
VI 161-165 165.5 5 36
VII 166-170 170.5 3 39
VIII 171-175 175.5 1 40
Height : I to VIII P1
Upper boundary : 1 to VIII P1
Frequency : [T'to VIII P1
Cumulative frequency : II to VIII P1
(b) 143(*7) +148(*8) + 153(*10) +158(*6) +163(*5) + 168(*3) +173(*1)
*T+*8+*10+*6 +*¥5+*3+ %] K2
153.9 N1
Note :

Correct answer from incomplete working

e.g: @= 153.9
40

award maximum 2 marks




(c)

Refer graph

45

40 —

' b

25

N

Number of students
Bilangan pelajar
N
o

15
10
5
0
140.5 145.5 150.5 155.5 160.5 165.5 170.5 175.5
Height (cm)
Tinggi (cm)

Axes drawn in correct direction, uniform scale for

(d

140.5<x<175.5and 0<y<40. P1
1 point and *7 points plotted correctly or curve passes through all the

points for 140.5<x<175.5 and 0<y<40. K2
Note:

*6 or *7 points correctly plotted, award K1

Smooth and continuous curve and passes through all 8 points correctly

using the given scales for 140.5<x<175.5 and 0< y <40. N1
Median =153 + 0.5 N1

12
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J 1/H E/D

(a)
Scm
A 4 cm G/B 5cm F/C
Correct shape with rectangle ABHJ and rectangle BCDH (all solid lines) K1
BC> 4B K1
Measurement correct to 0.2 cm (one way) and all right angles at
vertices = 90° + 1°. N1
: M
(®) |1 PIN
G 1.3cm 2cm
S/T 2Zem |K/L
3.5cm
3cm
4 4cm B 5cm C
Correct shape triangle ABG and prism BCMG (all solid line) K1
BC=CM>BG>CK>SK K1
Measurements correct to + 0.2 cm (one way) and all right angles at
N2

vertices = 90° £ 1°.




M 25cm E
P 25cm |9.7¢cm
1.5
0.8 cm .
Gf----mmmmmmm-} 6 -5- ---------- /
Scm
S/K L,
3 cm 3.5 cm
A/B/C 5cm J/H/D

Correct shape of CDEMLK and rectangle STNP (ignore GI)

Gl is joined by a dashed line to form a rectangle GIHB

CD=DE>GB>KC>PN>NT

Measurements correct to £ 0.2 cm (one way) and all right angles at
vertices = 90° £ 1°.

K1

K1

K1

N2

12
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(@ | 45°N,124° W) P1P2 3

Note:

124° or G°W award Pl
(b) | 1620 .

60 &% K1

1620

B0 K1

18°N NI 3
(c) | (180—45-18)x60 K1

7020 N1 2
(d) | 180°x60x cos45° K2

180°x 60 x cos45° +1620

600 K1
15.43 N1 4
Note: 12

180° or cos 45° correctly used, award K1

PERATURAN PEMARKAHAN TAMAT




